Enter this number on your calculator in Scientific Notation

8.72 x 107

% 3 3 2 E —7 This is how it looks on a graphing

calculator.

You can now finish Hwk #6
pages 402-403

Problems 1-3, 10-13, 16-18, 21, 42, 43

Due Monday, February 16

Find each. Give answer in Scientific Notation.

1. (2.5 x10%)(1.43 x 106) = 375’75 Y EAS,
5215000

2. 1.788x 101

4.8x103

32
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What is the above called?

Powe I Has two parts

Base

Exponent

T



Write each as a single Power. Write answers without negative exponents.

1, 44444(5 )
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4. D3 D3 -D D¢

Simplify each. Write each answer without negative or
zero as an exponent. Be=m————

1. T 2. WXW2X3W
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3. (2R3S*)(5R8S3)

Sec 8-3: Multiplication Properties of Exponents

Multiplying Powers With the Same Base

For every nonzero number @ and integers mandn,.a " e a "= a ™

When you multiply powers with the same base you

ADD EXPONENTS

et aan@n whitg boaa_z — a5

3. w2 ewtewd = L

4. 0% -RS. 0 R‘ - 04R1°



Multiplying Numbers in Scientific Notation.
Give the answer to each in Scientific Notation WITHOUT A CALCULATOR

1. 27X 10°)(2.5 X 10%) =5x 107
IO 10
2. B3X107)(1.1x107%)
3%

{
3. (6x107)(9x10%) = 5i%106>
12



